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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

@oly :  Cesmeawrar GLsHe UL amThgl, FOMUTHS®ET eT(PSIS.
Note : Draw diagrams and write equations wherever necessary.
L@ - 1/PART -1
GOILL : () Swesg lamssEnsEn el weféseD. 30x1=30

‘ (i) sfwrer e mws CsTHESHES T (WHeIs.
Note : (i) Answer all the questions.
(ii) Choose and write the correct answer.

1. maer stHhd da wealGprbd LG mausGLEUTg o @ TEw Qaulg&@d

Qumrmer :

(1) QupTs@a® (<2) @0

(@) TNT () @uuir gsmev(

When ether is exposed to air for sometime an explosive substance produced is :
(a) Peroxide (b) Oxide

() TNT (d) Superoxide
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3.
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5.
A
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Gamaveneir SBlwsHe aualienio SNBSS 6T ?

(1) HF (<) HCI (@) HBr (%) HI
Among the Halogen acids, the weakest acid is :
@) HF (b) HCI () HBr (d) HI

ZHI= Hy+I, eremp swflener efenarudep K, <ang) :

(=) K. 8 el oiflsid (=) K, g ol G@na
(&) K. &6 s (") ygBww

In a reversible reaction2HI = H,+1, K;is:

(@)  greater than K_ (b)  less than K_

(€) equal to K, (d) zero.

dluev s ger @ mpedld JOUGLD WrHmLD

AH

(<21) AG=AH+TAS (=) AG=AH-TAS (@) AG=AHXTAS () AG= TAS
Change in Gibb's free energy is given by :

AH
(@) AG=AH+TAS (b)) AG=AH-TAS (6) AG=AHXTAS (d) AG= TAS
srenetlFCym eflenenss; 2 LuLrg Gsiwlb -
(<=1) 2 sLITTLOTEDIq an@m () (<=4) DAL régeman()
(@) Cluasraig eam () () Leoy Qugdler < L e g emaun ()
The compound that does not undergo Cannizaro reaction is
(a) Formaldehyde (b)  Acetaldehyde
(c) Benzaldehyde (d) Trimethyl acetaldehyde
e
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YenawriL| Frram QamerL el erg) ?
(<21) NH; (<) H,0 (@) No, (/) 17

An example of ambidentate Ligand is :

(a) NH, (b) H,O () NO, (d 1I-

CoHsNH, —=~22HEL, X, X eraimugy -

(1) CeHsCl () CGHsNHOH (@) C,HiN,CI () C4HsOH

NaNO,/HC! . ;
CeHsNH, 2 0“2C » X, identify X :

a) C.H.Cl (b) CH;NHOH (c) C.H:N,CI d) C.H-.OH
6-°h 6 5 6" "5 "2 6" 5

@O eflamanied E,=0 wpmib 300 K &0 K=4.2x10° sec~! erefled 310 K & K e
wSHy :

(<=4) 4.2x10°% sec™1 (<) 8.4%10° sec~!

(@) 7.4%x105 sec—! () 42x1073 sec~!

For a reaction E,=0 and K=4.2x10° sec~! at 300 K, the value of K at 310 K will be :

(a) 4.2x10% sec~1 (b) 8.4x10° sec™1
() 7.4x10° sec™1 (d) 42x1075 sec~!

orpgmarhsaie sflflusss saew 2 mLwg 52
(=1) EAwib () UCrrligdwn (@) anrédlun () @il edwib
Which element in Lanthanide is radioactive ?

(a) Cerium (b) Promethium () Holmium (d) Lutetium
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10.

11.

12.

13.

14.

4

Yemeumeuareupdler erg) s eraslrren seuit Semeno QsTaRTL g ?

(=1) Uenfler (<) @Cermen (@) yCrmden (F) 2Guimig e
Among the following which has higher electronegativity value ?

(@) Fluorine (b) Chlorine (c) Bromine (d) Iodine

Qgrh weonule SO, g 2,&680Carmmw ey almauied efamarGous
wrodluller B&s :

(=1) As,O4 (<) V,05 (@) Fe,0, (/) CuCl,
In the oxidation of SO, in contact process the catalytic poison is :
(a) As,Of (b) V5,05 () Fe,O4 (d) CudCl,

.

eThg Gaiob @Qukig soBlae wrHHlusmss s Heauddame ?

(=) eoplCrr Quenden (=) o Crr 85Csen

(@) eopCyr maCaen (7)) 2-eplCrr yCrmUGuieT
Which of the following compound doesn’t show tautomerism ?

(a) Nitro benzene (b) Nitromethane

(c) Nitro ethane (d) 2 - nitropropane

R @b BlenCGarrlL g @ WearL@alls samrsad alfiGu CegssbCurs
Wlemeurudled Liquid Qummeflen Hlen

(1) swran Hlevm (=) epevdgam erenL

(@) blenGeuglé swome erenL () e Symb

When one coulomb of electricity is passed through an electrolytic solution, the mass
deposited on the electrode is equal to :

(a) equivalent weight (b) molecular weight
(c) electrochemical equivalent (d) one gram

SF, epavdanled 2 aer @Qaréseliy

(=1) sp® (<) sp>d? (&) sp’d () sp’d?

The hybridisation in SF, molecule :

(@) sp? (b) spd? (c) sp3d (d) sp>d3
»
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15. Quenfenar enpLlCrm grpmid Qewinyb CTOELITE Seum sryewf] :
(31) eman Crraflwid juied (=) s0Curefls e
(8) eoplCrraflwn <juweh () uGrrenw® Swef
Electrophile used in nitration of benzene is :
(a) Hydronium ion - B (b)  Sulphonic ion
(c) Nitronium ion (d) Bromide ion
16. WenCGLreflest TUPAC Quuwi :
(=) Gerréd) Quienden () F&STEH Quendenn
(@) Bssrad Quenden (Fr) yCrriurss) Quender
IUPAC name of Phenetole is :
(a) Phenoxy benzene (b) ethoxy benzene
(c) Methoxy benzene (d) Propoxy benzene
17, goX?2 o Y220 erenp sfflwés elomadean Qaefb L@ o LHmL B
gisarsafian eramanflEans :
(=) 3a, 38 (=) 5a, 38 (@) 3a, 58 (FF) 5a, 58
In the following radioactive decay gX?2 — ¢3¥?20 how many « and B particles are
ejected.
@) 3o, 3B (b) <50, 38 (€ 3o, 58 (d) 5a 58
18. blepenens seuiddl eranLg) saplomisaien :
(=1) epefludlwumd Lerry (2=) Quiss LewTy
(@) Bemalwn ey () &ThsL Ly
Electrophoresis is a property of a colloid.
(a) Optical (b) Kinetic
(c) Electrical (d) Magnetic
A
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19.

20.

21

22Z;

6

UTELOWD eTaTLg Sp&EHam ereuddlen Falplod Sengsed ?

(<=1) @uewr(h Seromiser (=) @rewr(® Biromiger

(@) @ran® eurwbsar (%) @ Semowb, g i
An emulsion is a Colloidal Solution of :

(a) two solids ) (b) two liquids

(c) two gases ‘ (d) one solid and one liquid

eThs Feveulm 2 Uiy YyenstuL s Csmfledle LwemuBhEng ?

(1) AgCl (<) AgNO; (&) AgF () AgBr
Silver salt us‘:ed in Photography is :
(a) AgCl (b) AgNO, (c) AgF (d) AgBr

LTS MBIGET GTesILienay :
(=) umedl QuierL(Haer (=) ueulg SleEIsET
(@) veug Sermed (/) wmedl erevLfr&err

Proteins are :

(a) DPolypeptides (b) Polyacids (c) Polyphenols (d) Polyester

- - . . s - . . .
EpOGInm < TIYLL TeO&GET ___ Qararemsuliaruly &L Frarme
Blriudu®dmg.
(<=1) ureblilen selliiiLGssgieu (=) apa &g
(@) ool HSHGULD (FF) @eneu emarggiLd
The molecular orbitals are filled according to :
(a) Pauli’s exclusion principle. (b) Hund'’s rule
(c) Aufbau principle (d) All the above

»
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24.

25.

26.

7 ) 3631

8:8 auang Sl o 6TerT Lig.&LD?

(<=4) MgF, (<) CsCl (@) KCI (FF) NaCI
Which one of the following crystal has 8 : 8 structure ?
(a) MgF, (b) CsCi (o) K (d) NacCi

MBS (mULSHADer 1.732 Bi\«f Clamemr_ g Qe fleves saflwgdle o drar
gallgs eres_rrenselen eramenflEans -
(=1) 1 (=) 2 (@) 3 () 4

A “d’ block metal ion has a magnetic moment of 1.732 BM. The number of unpaired
electrons are :

(a) 1 (b 2 ) 3 (d) 4

eram_Grmulen SI wje; :

%) Cal K1 mol—1 erg K=1 mol—1
) erg
(©) Jdeg=1 mol—2 () JK~1mol-1
The SI unit of entropy is :
(a) Cal K~ mol-! (b) erg K~1mol-1
c) Jdeg~!mol-2 d) JK lmol-1
8

Q& Luradle ) Epé;é,]m LBIE cudlsdlng :

(1) auerifleng wrHLSH6D () 2 Lheamsemer BT ewruflé &6l 6
(&) @réspeoss griaoiuGsssdsd (7) @rssid 2-a5eiled

Cephalins have been implicated in the process of :

(@) Metabolism (b) Org'anisaﬁon. of the body

(c)  Blood purification (d) Blood coagulation

[ B®ULs / Turn over
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27.

28.

29.

30.

8

<&Cevr Crir Sjweallgmen 2 (Heurs@dlemmen.

(=1) rbgameT(h&er (<) &g emenn(h&er

(@) 2wflw euruydser (/r) &Ty 2 Carsmiser
forms oxocations.

(a) Lanthanides (b)  Actinides

(c) Noble gases ‘ (d) Alkali metals

e elenanullen wpenGerms @ ellenar wHmiD aTGCaTé s lenamden claaCGous
rflelaer weapGu 8x10~3 wHmb 2x10~4 erafléd K. 6 iy
(<=1) 0.004 (<24)0.02 (@) 0.2 () 0.4

The rate constant of the forward and reverse reactions are 8 X102 and 2x10~4
respectively, K. is

) 0.004 (b) 0.02 € 0.2 (d) 0.4

fflsemi® elevars Qumrgper Cararr(h swrilss wprwrg bl :

(=1) 281986 Sdlevd (<) ooLimTLils jdlevid
(@) i fs sbleb (/) Querremuils sidled
The acid that cannot be prepared by grignard reagent is :

(a) Acetic acid (b) Formic acid

(c) Butyric acid_ (d) Benzoic acid

=

Senmener Zn g@epL e &MU aulg&@LGEUTg &L uug) erg) ?

(1) Quemamreiqenam(® (=) Quemsmuds 2iblebd
(@) QLmreyeien () Quenen
When phenol is distilled with Zn dust it gives :
(a) benzaldehyde (b) benzoic acid
(c) toluene (d) benzene
»
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|' L@&S - 11/ PART - 1I :
Gy : () gCseyd udleneving) lemss@rss efenLwef. - 15x3=45
(i) geitarn allamelh@h e oje0e0s Gresn(® cursdurisede
ellanL_wierfl.
Note : (i)  Answer any fifteen questions.
(ii)  Each answer should be in one or two sentences.
31. He, ger 2 (heurseldena?
Why He, is not formed ?
32. CIClem Gevawriiy Bemd 1.98 A erafled GCarriler igmiefer @b reman?
The value of CI-CI bond distance is 1.98 A. What is the atomic radius of chlorine ?
33.  Blwurefer LUWIGIEMmETS &(5s.
Give the uses of Neon.
34. HF g sawrawrmg. LML g dsafler Cobléss LG eTen?
Why is HF not stored in glass bottles ?
35. Qe flows saflviisd o Corss swameleil 2 (HeUTHEG 6L Grenn?
Why do transition elements form alloys ?
36. ‘Uersuie sbuel’ erammrd cremear? <Gl ereuaury Quplu@ESHg)?
What is philosopher’s wool ? How is it formed ?
37. Geudl eflemans@ib o L& ellevans @b 2 arer CoumiuimBeer PGS H(H.
Mention any three differences between chemical and nuclear reactions.
38.  dlymé sweturigmen er(pd el @s.
Write Bragg’s equation and explain the terms.
A [ $BLys / Turn over
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39.

40.

41.

42,

43.

44.

45,

46.

10
B (373 K) — Byred (373 K) erenm Qeiigperpuler eran Crmdl wrHmsms
saméd B, AHy,, =40850 ] mol~1 (at 373 K).

Calculate the change of entropy for the process water liquid (373 K) — water vapour
(373 K) involving AHy;,,=40850 ] mol ~1 at 373 K.

Wemeumd geuGleuramn@b @f Foflae eury ellmamu ahSISET LTSS
‘&;@&3 :

(i) Ang= 0 (i1) fl‘mg= +Ve )

Give one gaseous equilibrium reaction as an example for the following :

(i) An,=0 (i) Ang=+Ve

clenear aUEnd GUENTIIM).

Define order of a reaction.

Glenant ellenaaer erammmed erenan? eT(HSHSSTL(H S(HS.

What is a parallel reaction ? Give an example.

QL ereueurm 2 (heurdlmg)?

How is Delta formed ?

Bilen el QUmHSSD erammred cremar? Sigean ELmLS S(HS.

What is an ionic -iaroduct of water ? Give its value.

@erren S GurGnm, Luw reve AGWrAwir dHuapen CaunuBssd smi.@s.
(gsmeug) epem)
Distinguish enantiomer and diastereomer. (Any three)

édeSen devarsasrane 1,4 el &GCFams LIHMID efmarenw 6T(LHGIs.

Write the conversion of ethylene glycol to 1,4 - dioxan.
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47. @eenrliy eflenareni CT(PGI5.

Write the coupling reaction,

8. Yoy wan(HsEnssTan B® Csrgamensemens &(H.
Give two tests for aldehydes‘.

49. wrCGerr, L, ey &CarrGrr s o ab <24, &l m M) e
<lblogsenamwau @rid@s.

Compare the strength of mono, di, trichloro acetic acid.

50. A Buwpmid Cevw S&TL_Hl&.

HNO Sn/HC! | Cs
CHy — o3 sA —S/HCL 4 =

Identify A, B and C

HNO; Sn/HCI | cs,
CH4 4000C3—!A _IB Hg(:zfz —:C

51.  Yyenr N euens glium GreueUT) swrfésuuRSmng? DISET LIWLIGHT endlanes
&(HS.

How is Buna-N rubber prepared ? Give its one use.

e

LU@&&! - I11 / PART - 111

GO : geuGeunm ifleslel pbgib GephsLL &b 8w enrésamer CorbOs05s
Clbrggin sI(Lp aﬁ]ssrrrgi;a;@é;@ eSlenL_wef. 7x5=35

Note : Answer any seven questions choosing at least two questions from each section.
M6y - o/ Section - A
2. g - Yygrsef FLGTUTL g ners &(mel

Derive de-broglie equation.

E [ L / Turn over
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53.

54.

55.

56.

57.

58.

12

srsh (Ceral) sigan sTaeildBbs) crauaurm WASQsHSsILESDE?

How is gold extracted from its ore ?

gaflo auflens S Laeandd erpgmaBsafan GLLd unm elfleurs er(pgs.

Discuss the position of Lanthanides in the periodic table.

K, [Fe(CN)] erenn ienewre CarwgHn®, Gemeu(metanaupenDs GHISEHED.
(1) IUPAC Guwir (=) ww 2 Cors jwaf (@) mefl

(FF) Dienemrey 6Temr (2.) @uigeuld

For the complex K, [Fe(CN)g], mention the following :

(a) IUPAC name (b) Central metal ion (c) Ligand

(d) Coordination number (e) Shape

19fey - 3y / SECTION - B
Qautiu @uissefieien @ e o el LOCaly FnHMSMET CT(LRSIE-

State the various statements of second law of Thermodynamics.

& &m'_sﬁ]u:lr'r Qararasau LwaL®SS Gsr@® pepulld 2i$& djetey SO,
QupeusHE Cameuwirar BlLpS@EEDET CT(pSI%.

Apply Le-chatelier principle in contact process and write the conditions to obtain
maximum yield of SO

el daasEn, Hesarar clamarsEh @aCw edrar Caupurhsmens
B([H5.

Give the differences between simple and complex reactions.
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60.

61.

62.

53.

59.

13 3631

E&aTam) b Wensagdlen emf guib, se eflenamufen & SLIGOOT 2 Hmed
WDTHDSEMS LD ST &4 (h .
Zn | Zn?* || Ni2+| Ni B2t zn=~076 V

Zn | Zn?* || Ni2+| Ni E°2n2t1z,=—076 V
i Wfley - @ / Section - C

2ACrrCloL 1y & F.Fg,r'r, S TV WTHT /MY S TaEnsdlen,_ G o drer Caipur@semens
SH&.

Give the differences between aromatic ether and aliphatic ether.

sanaferCrr efenemer eSenas auflpenmenw CT(LDGI.

Explain the mechanism of Cannizzaro reaction.

OT&I9 8 oflevid S&s@T_aunhm e ellanemulenens gmas.
(=) Quert_meir syt

(=) 8788 <ifleid &b KMnO,

(&) Biss Hys0, ‘

Give the reactions of lactic acid with the following :

(a) Fenton’s reagent

(b) dilute acidified KMnO,

() dilute H,S0,

smumsafler g CLred) ‘Biod 2 Blghd - Blow 2 wirgd) Qsrerensea (&S,
Write Otto witt ‘chromophore and auxochrome’ theory on dyes.

[ S®LUYSs / Turn over
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u@$ - IV/ PART -1V

@dlysst : () Corssd BIe@ e0eTéHEHEhES efenLwierl.  4x10=40

(i) o ereim 70 &@ SLLMUIDIS Seo_wefssiiuLe CeuamHid.
Bgaperer eflarrésafla gCaed epeTml NS EHE S
) cflenLwarfl.

Note : (i) Answer four questions in all.

64.

65.

66.

(i) Question Number 70 is compulsory and answer any three from the
remaining questions.

(1) resLTen BriL s LTE@D sryafsman elleTéEs.

(<) rrdCs - gria wpenuile srHHSmHE LHS eUTLESmeT Greueumm
NSO HULIMLI?

(a) Explain the various factors that affect the electron affinity.

(b) How will you isolate noble gases from air by Ramsay - Raleigh’s method.

(=) Siememay Caiomiser LpMw QeuferT Qararensulien smg Camersener
T(PSIS.

(=) GRlwualladmbg iHs slemey S HMEV QauafedLLiLHeugHSTET STTERTLD
cTaan? i@ Bl Loaims Aerensemer eT(HSIS.

(a) Write the postulates of Werner’s coordination theory.

(b) Whatis the reason for the release of high energy fromsun? Write various reactions
taking place in the sun.

(1) agmi 8l wHpd LETBSD GnUTHS®ET efleufl.

(<) Quipdrs Hosssed LOHID Berarmd Henssse WeDS6Ta) adlomiseaT
ereueury gwrfloumi?

(a) Explain Schottky and Frenkel defects.

(b) How are colloids prepared by mechanical dispersibn and Electrical dispersion
methods ? '
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- 67, (&) Wenugeaf SLggIsHmen Lpmiw <Slfaneilwen Qsrdrenasudar &(H)
Carersanar (SIS

| (<=4) QbiremenL FLOATLITL ig e au(med.
(a) Write the postulates of Arrhenius theory of electrolytic conductance.

(b)  Derive Nernst equation.

| 68. (=) Lrrimrfs 3 lev & dled srarlu@L gefl spHd wrHflugenss Lind
(&I,

(<) Yemeupd wrhpriser ereueurm Hlaspdermen?
() eradlflalls oo — <2619 flesr
(i)  srellflells e — Cgded smelldlCal
(i) <HfA L@ -  OwsSeé oySar
(a)  Explain the optical activity phenomenon in Tartaric acid.
(b) How are the following conversions carried out ?
(i)  Salicylic acid —  Aspirin
(i)  Salicylic acid = = Methyl salicylate

(iii) Acetamide —  Methyl amine

9. (1) oBLyeb fledg e eflenemr, Frflenewrw wmHmyb epailenewrs oyiSesaser
ereualrn efleneorflflemmer?

(<) sriCurenant Gy Heer UDSLLHSSMR S&ss Fremis@EhL e efeuf.
(@) How do primary, secondary and tertiary amines react with nitrous acid ?

(b)  Outline the classification of carbohydrates giving examples for each.

g [ BBLys / Turn over
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70.
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(=1) C3HgO eremp pp@dsan eumiliurGerw sfwé GCaerwbd (A) @rsmen

leariiur@Ler 5-10 Al hsale sorsd gaww sT@EsDg. (A)
P, 2.Lan (B) & s@dms). Caiob (B) Adeuit epleyl HLen G (C)
2 sméngl. Gaiob (C) @bl SfesgLear fo Hnsos smEDG.
(A) (B) wpmid (C) & saLpg elamarsamer eSlarsEs.

(<) Gerrilwsden wsdws srgeurar (A) eremp Ceingdler GCrmiugslen

(@)

(b)

(©

(d)

<2 5HCaHD erar +3 2pGW. (A) 2 mElw Nay,CO, 2 Lar cupissuuL
(B) erénp w@hser Hp Cemwsms sHADG. (B) LT &b56 Sl e
sflevanpp (C) 8 5GADS!. (C) g KCl 2L e eflenaniLiBés (D) 25 SGADS.
(A), (B), (C) wpmd (D) @& sa_Hbg ellenansamarn cllers@s.

3|6V6V 5] '
C,Hg ererp eumiiur@erer 2Crroryd eanigCrreriuen (A), V,0s
weraflemauie 773 K Qeaitiuflenauiier sARCampd e bg C;HqO
eresty eumiLILTRenL W, &&bhs LTsTller eursamenyemLw (B) @ smElng!.
Gefrod (B) &L 196 HMel wHmb Camgquib HFLCLL swamalwLar
emaryfipg (C) eramn Hepayprs sblososs sGEHDS. s
aumiur® CoHgO, erammmed (A), (B), wpmid (C) 86 sewLHl. Comsem
cllenenaener cllemd@s.
HCl, CH;COONa wpmib NaClen gorer sL_ggib gneasar panGu
aerelleor Birsseld 426,16, 91.0 wpmitd 126.45 gid ! Qs.18.2 (&.swmenb) !
AGD. A &5 dbwsHan sorar sL5F Snmas sassl[Hs.
An organic compound (A) C3HgO with Lucas reagent gives turbidity after 5 - 10
minutes. (A) with P|I, gives (B). Compound (B) on treatment with silver nitrite
gives (C) which gives blue colour with Nitrous acid. Identify (A), (B) and (C) and
explain the reactions.
Compound (A) is the chief ore of chromium in which chromium exist in +3
oxidation state. (A) on roasting with molten Na,COj; gives yellow coloured
compound (B). When (B) reacts with concentrated sulphuric acid gives compound
(C). (C) onreatment with KCl gives (D). Identify (A), (B), (C) and (D) and
explain the reactions.

OR

An aromatic hydrocarbon (A) with molecular formula C;Hg undergoes oxidation
in the presence of V,O5 at 773 K and gives (B) C;H4O which has a smell of bitter
almonds. Compound (B) reacts with acetic anhydride and sodium acetate to give
compound (C) CgHgO, which is an unsaturated acid. Identify (A), (B) and (C).
Explain the reactions.
The equivalent conductance of HCl, CH;COONa and NaCl at infinite dilution

are 426.16, 91.0 and 126.45 ohm~! cm? g. equivalent ~! respectively. Calculate
the equivalent conductance of acetic acid.
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